



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$\left(\frac{1}{6} + \frac{2}{3}\right)^2 - \frac{1}{3}\left(\frac{3}{4} + \frac{3}{4}\right) =$$

$$\left(3 + \frac{2}{5}\right)^2 - \frac{1}{5} \times \frac{1}{4} - 4^2 =$$

$$\left(5 + \frac{1}{2}\right)^2 + \frac{2}{3} \times 4^2 - \frac{1}{2} =$$

$$\left(\frac{1}{2} + \frac{1}{4}\right)^2 + \frac{3}{2}\left(\frac{3}{5} + \frac{2}{5}\right) =$$

$$\left(4 + \frac{1}{4}\right)^2 + \frac{3}{4} - 3^2 \times \frac{1}{3} =$$

$$\left(\frac{1}{2} + \frac{3}{2}\right)^2 - \frac{3}{2}\left(\frac{2}{5} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{2}\right) \times \frac{3}{2} + \left(\frac{1}{3} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{5} - \left(\frac{1}{3}\right)^2\right) \times \frac{2}{5} + \left(\frac{1}{4} - \frac{3}{5}\right)^2 =$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{3}{4} + 3^2 - \frac{1}{3} =$$

$$\left(3 - \frac{1}{3}\right)^2 - \frac{3}{2} \times 2^2 - \frac{1}{2} =$$



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$\left(\frac{1}{6} + \frac{2}{3}\right)^2 - \frac{1}{3}\left(\frac{3}{4} + \frac{3}{4}\right) = \frac{7}{36}$$

$$\left(3 + \frac{2}{5}\right)^2 - \frac{1}{5} \times \frac{1}{4} - 4^2 = \left(-\frac{449}{100}\right) = \left(-4\frac{49}{100}\right)$$

$$\left(5 + \frac{1}{2}\right)^2 + \frac{2}{3} \times 4^2 - \frac{1}{2} = \frac{485}{12} = 40\frac{5}{12}$$

$$\left(\frac{1}{2} + \frac{1}{4}\right)^2 + \frac{3}{2}\left(\frac{3}{5} + \frac{2}{5}\right) = \frac{33}{16} = 2\frac{1}{16}$$

$$\left(4 + \frac{1}{4}\right)^2 + \frac{3}{4} - 3^2 \times \frac{1}{3} = \frac{253}{16} = 15\frac{13}{16}$$

$$\left(\frac{1}{2} + \frac{3}{2}\right)^2 - \frac{3}{2}\left(\frac{2}{5} - \left(\frac{1}{2}\right)^2\right) = \frac{151}{40} = 3\frac{31}{40}$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{2}\right) \times \frac{3}{2} + \left(\frac{1}{3} - \frac{1}{2}\right)^2 = \frac{467}{288} = 1\frac{179}{288}$$

$$\left(\frac{1}{5} - \left(\frac{1}{3}\right)^2\right) \times \frac{2}{5} + \left(\frac{1}{4} - \frac{3}{5}\right)^2 = \frac{569}{3600}$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{3}{4} + 3^2 - \frac{1}{3} = \frac{65}{3} = 21\frac{2}{3}$$

$$\left(3 - \frac{1}{3}\right)^2 - \frac{3}{2} \times 2^2 - \frac{1}{2} = \frac{11}{18}$$